Observed influence of moist convection and cloudiness
on boundary layer wind and momentum flux profiles
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What are differences in the character of vertical wind mixing and
momentum transport for different cloud regimes?
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Better wind mixing in the surface layer and wind
acceleration during shallow convective days
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Slower winds and stronger buoyancy have better mixed

winds in lowest 200m
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Correcting for wind and buoyancy effects through Obukhov
length, non-overcast rooted clouds show better mixed winds
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